TADVERERRT S VT RAERFHE

BF 3B EULLE SUTNRA
JOPS' L—K:A SNk :32
YENGR B-16 B-8 B-4 BB BB
30 240 345 490 700 1000
[oome [ [ B REE K4 B
1 2 -
1 |G0017868|#J1l # |FLA¥—X/\HR R
e dmt sin-maamey |61 61
2 [GO017819|H AR Fdk [YMcansKE - REEMSER S B
3 (G0016982|/NEE BELE  [=ROAVLTF=ZRYIFT |— 7R w.o
" o W= —< | |7562
4 |G0017131|FF H#t AR—YZ—=29 @l A
5 [G0018325|7KA E£& | =[EBKER mLe = 6161
_ A | (466475
6 [G0014399| 77 eh = [#atE> % WE B
7|C0016934(#E H2  |[TSERF=RITT oy W.0
5~8 - | [76(4) 36 64
8 |G0017333|f4f #4%8 [VL XK on S
54 9 |Go016499| 485 ZH |/ <TUvrT=REHH | - 75 61
10{G0017135| 4k =8I |EF=2457 |[18462
11|G0016375|3E 8 JTik Ken's4‘/F7-7—:7\7\7—lb¥§—§J$ B—
= 60 62
Liid 2_ I % — N +.
12|G0017704| &R i nom&eEr sen B
13|G0016518|{RiE JE [FuFRFT=2NAIZNEF |— W 64 62
14|G0017975| 52/ =% |[EEHTC 160 61 e
EH ER
15/G0016962| 1% 2  |RAILKTA =i g 62 62
=11 =
5~8|16|Goo17023| =48 BE [#+HGTC | [76(4) 62 EOTEE TS
76(7) 63
8117|Goo15514#EIL B |[x8Isr—F=zA—T> EOREE T
NN 60 46 62
OFxTEE7V|EV LA At — — ey
18|G0018718|EATTEE TV |2V LST o4 BOTEETY
19|GO017817|/Mi &  |atw W
\ < sz = | [76(5) 63
20|G0015569| a4k D&d> [tk s EOREE 7Y
21|G00155 13| EF BE—FA|7=ATATI-RIN [ o 62 60
22|G0017022|4t)1l ZE mOFEHtS (636
23|G0015878| &Il {ZF] |&#%-BBEOHIILLLE—— HiE B
3~4 N R | |64 64
24|G0016514| A3 && |TCIR/SHEEIL F—
°~8|25|G0018108| R #38  |ATILBEIL ki 367563
N ___ ] |e276(6)
=ph — = _—
26|G0018318[Kith R |1—RYLTF=RHFT K 2
27|Go015774| £ Bk |HhHGTC s 6263
o — — .= | _[6367(4)64
28|G0016306( 1L &T |F7AT=R9357 B %
29(GO017606|[E M L [r—vs5Tnsyrier — M Mt 7561
i | |63 62
30|G0017617|/NEF1F E—|ROFT EE x|
31|G0017720( 78 =S |Hankees mEre 63 61
2 132|Go017779|3& M ¥ |TI—Cube 160 61
S—RIERE )
1 .‘ﬁg)ll iﬁ TLAY—RNHR
2 EHE N TI—Cube
3~4 1R &=H INTYYITZREHith
3~4  HAiEEE TCaR/ Bl
5~8 =i RA HHGTC L
5~8 LB REIST—T=AH—T>
5~8 HhE fHA T ILEELL
5~8 i #BEe JLRE



BF 35 @l E ST IWATR
FEIELL FEBGR
EERAE 15

_ |[BHRES K4 FiE

1|G0017135|{&/E ZBI |(EWT=X935T | e 4=
10{G0018407| k% k2 |4F5crTsisdr | 16262

2 |G0015497|f&3 2z AR/ \#ilE e E
11\Go017022|4L)1I B |mkoEMten (636

3 (Go017678|1kiE £ BREET — RIBER mEEs
12|G0015878| 41| {27 |&sx-mEomRiL - |— 03 S3RET
4 |G0017131|FF Bt AR—=YZ5—=29 mEET
7|Goo17836|E8 =l |m—XTG |_I51RET.

5 (G0015445|{kfk B2 |EYST. S mr
9 |Go017817|/1Vik %% |atw 160 61

6 [GO015961|ENER |/E | REREHHLUHEM hE R
8 |G0017720|th#E A |Hankees 16275

7 G0017836 B8 =& O—XTG

8 G0017720 & %9+ Hankees

9 G0017817 /NE %  atw

10 G0018407 k¥ K2 HT34/4+TSEIL

11 G0017022 4t)Il =& RORHA R

12 G0015878 &Il =7 A&#k-BHAOHFX L 2—



TADVEBERRT S UTREFE

BF 40 mLL SUTLR
JOPH L—K:A SNk 32
YEHBR B-16 B-8 B-4 HEE BB
30 240 345 490 700 1000
[ [ [ BB EE KE£ g
111 |coooso3t| ikt eEE  |paeF=xH5T — Wk B
2 [Gooost97|FmIIE  |MERF=2iHe 026 Wikt e
3 |Go015951|&/FBA%E |LtIlu’'S W 6161
4 |G0012309| LA % 7Fo—F7=x (4006164 ke
5 |GO015156(;BFH FHht |7P=X B B 6263
6 |GO010887(#HH iEx 7=V X 162 61 thk L5
7 |Goo10445| /N st FEA [MARS—T kA 75 61
5% 8 [Go001472|shARIE |y 0400 WAt
541 9 |Goo13825|f 2 K1E  |L—trr=zo5TRR|— Rkl 266360
10{G0005102| REH#R |1’ S —o ek
11/G0017687(FJIIR= |MATTU e 6363
12(Go016468| HAERRI  |[TSERTF=R457 167968 A
13|G0002086| A EEIR (NIl DTH#&AT TmEEE 8363
14(G0000283| 5Kk 3§ [#-nmmaxz=arsa 0T 2|
15(G0014305|;thHER |FEEA T mET 63 64
8l 16|coor2180| i AM— |m#mpEHRESE @ |027° %
~8117|Go000765| KK  |FEHHT=RESR mrr
o = p=5|__|6062
18|G0015595| #8152 fEMO—YF=2957 -
19|G0016430| £78B  |[FZRLZSA—R [ocgn |00
— [ 62 57 62
20| G0002962| T EF R WAD—TZRY5T — AFEX
21(G0011526| A Il SER | T—RT=RT7HTI— T FLE 6164
22|G0009563| Rt |faFRLRFTC 6264 .
23|G0014587| AHTEK  [FUFRbF=2AIRH# AR E A o164
3~4194|G0001137| 48K B A |SRIRK—vkst et |—107(5) 63 62 P
™81 95|Go015768| 8% IYRT=ZRIST i 36.76(5) 62
HUR =
26(G0013933|4£ < AKIEER [JITC |46 62 62
27(G0003014|/KEf S8  (BERT-REEE — FERE
28(GO015724|BhEfRE |7A-T=RY3T 16262
29|GOO1M 4| BEEE | RR—YS—=25 |— LR
30{G0014020| ILI#B4E4E  |A to Z | 16162
31|Go015973|EEEM (Yo T=RY3T mirT 467563
2 |32|Goot7609|iE RS |JITC 163 76(2)
S—RIERE \
1 ILHEE HEIETZARYST
2 EHRES JITC
3~4  lEEEECE =5 )
3~4 {EAKTE W—HUbTZRISTRR
5~8 BRI FANYTER
5~8  EEH IYRFZRHS5T
5~8  AHKXKE WEHmT=—XER
5~8  IRAH— RAEER R &

9 Bk SRIZR—V#H R XEABFERARAUITTA, WEICIYEKETF



7 G0016204 FIA;Z

8 G0016457 HE £18
9 G0015156 ;BEF FH#f
10 G0015948 K& HiE
11 G0016468 A& E Al
12 G0017536 FRIEZ

BF 40 FLLL LWL 2
FiEIE L FEBGE
EERAE 15
| [BRES KE£ &
1 |1G0012309| L4t 8% F77A—FT=R  |— Wi 5
7 [G0016204| IR 2 B [#— 15z 1x7=2457 |63 62
2 |G0011526| B JIl A | T—RT=RF7HTI— W
10{G0015948| KB H=E |RK—v5—=> 4 [1034674
3 [G0000283| %1€ iE A—LIIAXF=RIFT — St
12|coo17536|ERIEZ  |mEF=2H57 | 8262
TR BHL  |ERS— 5 |
4 |G0007255| /] BA |BHEAT=RI357 -
11|Goo16468| ik RE |TsS=RF=24H57 | 16163
5 |G0003014|7KEF 238 | BEMT=RIEEER — K =34
8 |G0016457| 5% 18 |=a—ooor rr=zss57 170 62
6 (GO017126(8A % FH |REATA s w
9 [Goo15156/EH F#t |[7o=% 16164
7 G0017126 $HE FHE HERATA
8 G0017847 Rh 3%

7 i i > .
BY ALY/ XT=RY5T

Za—DJAVTFATT=RYIST

TY=A \
AR—YZ—=2%

TSERT=RY3D

R"ETZRHST



-_ oo — — [
TADVERBERRT I VT REFIE
BF 45 gLk VTR
JOPSL—FK:A SN 32
#EEGR B-16 B-8 B-4 EEB
30 240 345 490 700
b= |FA—No. | B2 EES K£ g
L 1 |G0001100 |FHY BR |97477raT=R0T e o o
v I=I
2 G0015802 |AH ZKER|tER=E 163 64 Fi B8
3 |Goo02809 |4kRE =48 |S-T-P iz 6160
4 |co004523 | ki 2 |TAS 106 76(3) 63 -
5 G0007727 |& WE JOo-EvSK 62 64
6 G0006675 |Hh/R # BIETF=2957
7 G0017761 |ER &X |[F=Z=RTISHEIR F1g Rt
58 " e 36 75 61
8 G0012289 |FAH KTt |a3rzzxf—vs57KE — B W
¥4 9 |goooo137 |it =E FIRIZA=R . 6261
AL =
10 |cooosot2 |E@ #z |7A-7=zH357 8461 -
11 |coordszs [l Hz [mmm—raaroy oo o (0000
7IN
12 |G0004879 |R=#1 EkT |LXW’'S 162 60 it ==
AL =
13 [G0001540 |§RK B |7 rmans e nR oo 63 60
iy} =
14 |Goo02282 |&i# fi— |wnsu—r5=zs57 16461 AR EE
15 |G0015018 | KAB EA |90 /APAN—FER [ 75 64
8 16 |goo05221 |BEE EE |Zt@ JIE 16063 %
8 17 |GO001311 [#AF FNE  |MRAF=RTS=4 |— AT s
18 |Goo16184 |EH& & |#5vknqwaTe 6262 S B
19 |Goo15894 kM &  [FHvHR sk =4 6216 75
20 G0000280 |FHAK {E/ |FB-SEEDF=RH5T — 6236 63 AR %
=1 o~ : . 62 61
21 G0014768 |HIL # J sons =15 gk
22 |GO016171 |=4E HX |[&E%B 1367564 1 E
—= = R 63 76(4)
23 G0001280 |&E & YHLIRRTZ RS BER 3%
3~4 24 G0001967 |fHJIIER &  [7m-rngrikrs=z25-0 | 16460 148 Eah
2]
Ol 25 |G0002085 | BIR |memsob-=A05T b g 6162
= =y
26 |G0006120 |KBF M= |MAEF=RH5T 032600 | 1| Bl
= =y
27 |G0006413 |MF IEBA |KBRAFFT =z as 6264
28 |G0000663 |EBHE AZFZx |BEMERT | 176(2) 62 4B EEk
R N 62 62
T ; &r= — o
29 |G0009352 (##2 IEfA |SIFINET=R957 A EF
30 |G0014524 |KE BR# |R7A)L o2 61 B Eah
=]
31 |G0002994 B EE |R/HTARR  fm e o |70
2]
2 32 |Goo13839 [JII#E AL |NJTC 162 61
S —RIEfE - \
1 (i =P GrIVISUaTZRYST
2 JII#E K=5h NJTC
3~4 st 2E FTZAAZI/IN—R
3~4  fA)IEL A TR N\RAVRTTZARI—)L
5~8  ¥AE N MRAF=ZRFS52 =24
5~8 ER BE pe I ‘
5~8  HI AR BREENN)—T=RH5T
5~8 FH# &t aFIRR—=YYSTRIE

&%
1000



27 45 mLl L SUTINATE
FEE AL FEBGR
EERAk 15
EREES K% FifE
FHN TE BT STHEAS— 59—
1 G0009352 |#f#2 IERA |IFRINET=RI3T s R
11 |Goo03s32 |B#ny  |Fmzazss—z |6446774
| 'l D RAR—Y —
2 G0008845 |F0%0 FER | TUF R RKR—Y B
10 |Gooo7727 |& HE  |FR-EviK |61 61
3 G0001540 |#3K HE [1or77=z25—1A1X mer
12 |coo12420 |4 #  |mmmsu—5=2557 | 16060
4 G0000663 |BHE AKX |FBET&RAR BT
8 |cooot110 |FEE ®KE |Fru—7=z4H57| 1166075
= ; .
5  |GO001141 (IUA 2= (KBRAFFT =iy
9 G0017761 |BIF %X |F=zTF5¥Fig 8275
HEF E TRGRBETS IR [— =
6 |GO009715 |#AEF HLA | AWARSEATIVA o o o
7 |Gcoo00280 |k =4+ |7n-seepr=zss57 | 16260
7 G0000280 FA {57 FH-SEEDTF=RHUST
8 GO001110 FEE B FzU—F=RY5T
9 G0017761 & EX TF=RISHFE
10 G0007727 % HE Ja-EvsK
11 G0003532 =4l 13 FZRIAZIN—R
12 G0012429 18X & HERS)—2T=ZRH5T



TADUVERRRT S UTRRTFIE

BF 50 @l Lk VTR
JOPSL—FK:A Shn%k:32
#WEEGE B-16 B-8 B-4 EEB
30 240 345 490 700
[~ [ERES] & T
1 A= 2 A -
1 |GO014414(IlLUA &7 |41—RHETC L
2 |G0002002|/NEF F1F  |Fm-reossTmmER [ /03 63 w
WA &
3 |G0004380[EEF [L#R  [Vr/ZRbARY—FZR — - 36 76(5) 63
[JJZF h=)
4 |Goo15425| Ik 35 |[#EIEF=RALYY |62 61 T
2R =
" e o 63 64
5 |G0000991 YUSUROAYLFZRI5T |— __
WEE K |onerhT =200 I
6 |G0000154|F K %%k [ISHIL TA 163 63 .
2R =
7 |G0006943( Mk TR |FSVFRSL g = 60 60
2R =
5~8| g |Goooo121|=R ®  [594 16460 T
2R =
3~4 . 6163
9 G0001928 m JO-NE 'ORD INTERNATIONAL ey N
B &8 v B A
- 67(7) 75 63
10 |G0000779| 38 T&S ITs .
Ee =X $rEHA B
11 |G0003993|#A A& —REVFZRH5T — L. |6261
WA B8 |1 —242F7=255 AT Bx
= 61 76(3)
12 [G0001171 = EES P4 — s
AT EX E S B 28
S 64 46 62
13|G0010741| &M AT |>vrs@maT=x4 T/—i*g i
N 76(1) 64
14 |G0002872( 45 E 4 Efs — s
18 EH |BREEEERA =4 HfE
X = — 63 60
15 |[GO000142| B3k T  (BsamEsnsET=xs57 &4 mE ’
5~8| 16 |Goo01405| =41 HiE |kFEEKKE 06 W
5~8 \\_
17 |G0014857 BHE |U~SuE I
kB BE  (URSWE e B
18 |G0014217|45:8 E#t |[Ja— |46 6275
19 |GO005280|1BA &R |BOED—2F=R957 — | e wp
INg B
o e — . — . 67(3) 64 50RET
1 INgE BT |FkO—0FT=RHS5T — e
20 |G0016500| /N 2 EKkO—2F=255 e
- _ 57 64 O1RET
17 g (B ERERT=ABHE 22— [— N
21|G0017309| EH £ z B T4
22 |G0005089| 1118 He#s  |rmsu—sr=zy57 | 176(2) 5775 —
- ——_ 75 61
197 = O- =7 = X8 — -
23 [Gooo1979| = 1% H 0BT —ALE Heh ik
3~4 o [ - = 62 64
24|G0014630 =24957 | .
Heh Eig |EEXEET-XI5 HE B
5~8 _ —_ 6161
25 |G0015808 B |T—IXF=RAE ..
TG BRY ToALE HmE A
- - 26 76(4) 60
26 |G0011461|;ZM A ES - -
EH 8 ([FEEAH HE 28
U 61 61
E 1 — —
27 |G0000141|§i M@ BEE |UD S——
= 46 62 61
28 |G0012326 osT - .
BE B BE 85
" . 62 75
29 |G0006134|# F=2 | )
#AR JEh |TA-T=RUFD K K2k
o = |- 62 57 64
30 |GO016906| &5t Mt | &% R - .
At BE A Hm 8
o - == 46 76(4) 64
31|G0008196 —EF=2 — .
BR R ETR950 HE B8
2 |32|Goo0sozs|HM %8 |[HxF-—x@m |—0263
O—RIE L
1 LA T A—RRAUTC
2 JHE %3 BRTF_RER
3~4 [ER R 70-NETWORD INTERNATIONAL
3~4 Hrh R BERT-RYST
5~8 g BAZ I—IXT-RTE
5~8  {ifk BE YRS
5~8 HR X S8
5~8 = EiE KFASKREE

1
1000



BF 50 @mLlL ST IVATR

FRIBH . TEMGE
BERAk 15
ERES K& g
o N- = -3 —
1 |G0016906| &5t it | E¥BE At m
9 |Gooo146s5|te B |ERyST 11664 86
2 |GO001116|ANy B =BR|1=/"\—HF TR AR — P T
12 |Go000142| MM &  |msmessr=xs57 | 1266375
3 |GO008196| B A EKiff |—&T=XY37T Tk Rl
11 |G0010691|HFiK #th |F—LU&T 146 63 9-7
\ B s _
4 |G0000513|Hh#f shz  [HEBIEZEER & R
10|G0010741| B M BT |svosmar=zs—r | 16263
B=— 2t |
5 |G015874| B F MR (MHART=AWE [y m mg
7 |Goo12326|#2 @ BEE |OST |64 67(3) 7-2
N E[VSLRAR—YER |— e
6 |GO008056|#AH LEBE |V SL AR—YEIR i
8 |G0000991| L% $usuknrenr=2s5s |1 19 61

7 G0012326 #2H FER OST

8 G0000991 Lg% YUSURAAYILTZRIST
9 G0001465 #% B FRI5T

10 G0010741 BM BT SyIBEET-AA—TV

11 GO010691 Bk Hith F—LU&T

12 G0000142 &M & BIAMENET=-RI5T



— o> O — — — »
TATDVERAERRT S VT REFIE
BF 56 mLLE SUTNAR
JOPS'L—K:A Shn#:32
YIEERE B-16 B-8 B-4
30 240 345 490
[roms | [ B RBES K% FiE
1 3 I o= ZAE I
1 |GO004131|BfX &FFE |EJVAT-RLHE BR B=
== 24555 |16 6261
2 (GO013511|##L 8¥8h | FUDIT=RHST LK BE
_ N 64 16 64
3 |G0000560(1L3 B AHT=RIST LK BE
R - 63 61
0014500 =4 ] s
4G R &EF (7AYv<o37 Hrh ER
_ 61 RET
5 |G0008828|ILTF &= [TENNEX LT =
- wim— o p=— |__|6160
6 [GO012112|{E{H |X |#BEBETZ=RU3T Heh X
—d— — > =y 75 61
7 [GO000755|8H E& |SAHhT=RY5T Heh EX
5~8 - — e 64 61
0002083 X |=RT= — L s
8 |G B Ex MTF=ARI—IL p—
3~4 =t e — — — 63 63
0000576|; ; = e s
9 (G gk 178 [EET-XH& Bk 15
et = 62 62
0001172 g— |BEFT= ] RN
10|G [zim i FTFZRHY5T —
e —  |=— R 57 61 76(4)
11/G0000190| 718 82— |7=—R1=/\—X Tt B
PR o= — o= | |64 64
12|G0015388(3LTE 1T |1—RE2VTF=RH5T JIE 2838
- e e 64 75
0012206|F% | HSLAR—YTSHEE — .
131G 6| FE E% LR P j(.% 125_1_
o = | |64 36 76(5)
14|G0004672| K& 85t |A. A A I A8
N . 75 60
15|GO00T185| BRI BRK  |NEHA—>7=2557 | — ) e \sg
5~816|coo083s4|JIIE 438 |BALOF=R  |1643664
5~8 prrape e = =5
17|G0006019(;E8 [EHR |BIO—2F=RH95T B ER
. e tm o n | _|6363
18|G0004509| HE & A—RAk+T4—ILK & R
19|GO011452| N HE—  [FLbookoonssd ko o e 60 60
= e s=—|_|6462
20|G0011989|#5 K Bk |[RMWO—rF7=2957 & ER
- 75 61
481 % |JUR = — =
21|G0004816(BEA F1F |JREBARREME =@ s
. |=_ _ 62 60
16282 5 —2a=/;N—R -
22|G0016282(FH E& |7=R1=/\—X g B
e = - 62 62
192 ] ZRO5T — "
23|G0000192|= & 1§17 |BORILT=RYS B #
3~4 " e s | |61 62
24|G0004725( & Rk |BEHFEZEMPR B EE
5~8 & SV F=RH57 f— 75 64
25(G0012286| k% F#th [v>svrmavns=zs 7k S
. 63 26 61
1 E — — .
26|G0012347(;5HR B —ER(U &S e B4
P e — 62 36 64
11 Al BTF=RBE — =
27|G0004611(F £ AIFT | FRRT=AH= b Bl
28|G0009185| 45 #EE  [FLoven7=zs57 |01 62 Bk B
. e | 63 64
29|G0016895(/MLI EiF |FELERT=R9357 Sl S
o e _ 46 75 60
1 % ;A "AX' n— p j — e -+
30(G0016378| K& RiA |HERKR—YTLI5 S
Jo __ W.0
31(G0001494| LK &8 | LEART=RRI—)L s 242 |
2 |32|coooe58s| ki Eie |7oF=zy57 16360
<—NRIEfSL
1 BR &= EYFT=AEE
2 Rl S8 2UT=RY5T
3~4 g g B IE#t FEEMER
3~4  FHKITE ERT-AHE
5~8  JIR 2 HABEDT=R )
5~8  {Efk #th YUSURAAVILTZRIST
5~8 B ER ENQ—2T7=R957
5~8 B &R ZMT=ZRRI—IL

R
700

B2 ER

76(1) 62

1
1000



BF 55 @ LlE ST ILAT R

FRIEH TERGE
FBRAE 15
_[BREE] K% pii
B |RKAVRTTFZRYS5T |—
1|G0001482| G A |FAAUNTTZRITT i oo
10/G0012347|;E#R i —EBR|U &S 16 7B
2 |G0000192|= & 1547 |BOBRILTF=RY5T — =B (E17
63 67(8) 7-5

12|G0006004| EA HEit |auERI/U—7=2557 —

N TR 3 |
3 [G0005710|/MF I FAN| TR —F 2] ML B

7 |Goo16895| /ML £iE  |mELERT=2y57 2663773
4 (G0011989|g4A RFO—VF=2557 |— N
AR HX wa—7 5 Bk BE
9 |G0017138|IUF BifE  |wHo—7=2s57 3664775
) — BNy T= 57—
5 [G0009695| 4t HrAVHNYTIRYS S =
11{G0000755| s £ |38hT=2H5T |04 64
6 |G0000560 - TR95T
A BR—  [AHTZRIS A B
63 62

8 |G0003541|EsF Xt [CBAPa —

7 G0016895 /MU iml MHEWSET=-RI3T

8 G0003541 7% %tt <HAPa

9 G0017138 LT BiE REHA—T-XH35T

10 G0012347 ;&HR f—EF U&S

11 GO000755 &M =& IAHhT=-RY3T

12 GO006004 A A #E#f BHEIU—T=-RI57T



TAOVEAERRT T VTR EFE

BF 60 @ik VULR
JOPYL—F:A Sn%k: 32
YEBE B-16 B-8 B-4 0T T
30 240 345 490 700 1000
[~ [EBEs] E% TR
U 11 |Gooot215|#sA Fi#k  |wmmr=zmed@iza ik T
2 |Goo07286| M #—  |MERAK—vwry57 10061 A TRk
3|C0018084/$T R FIE | RREMT=AITT I 2o 26 64 64
4|G0000218|% H5  |mams vsrr=zsss [ 163 64 —
5 (G0001214|t82H IE FAT=RI5T met 6363
6 |G0004314|5k 3t fE  |giED—>7=2s5T |26 75 64 —
7|GO001517| BT §K5E | v5karvnransss oo o 6161
~8| g |ooooso3|BE B |xmEmT. c | 1166264 WAk TRk
3% 9 |Gooo1752|/ME X [TFIU—95T | A 6446 75
10{G0016025| 1R f5 18— |EMRFF=2y57 [ 1025764 8
11/G0009512|#8% #&  |ecole—f i s 60 60
12|GO000569| fHEH BaX  |EAET =R 16160 50 B4
13|G0013580| KA 2 EHEET=RE | 5E B 6264
14|G0001480| %% B  [xmo57—7=xs—7> | 136 63 64 ——
15|G0016498| %A BA |7R-HOT=RRI—)L T&O B 7562
5~8116|G0000215( AR X |sssy—v7=zs57 10061 Siin
~8117|Goo15447(81A B FREMT=RI57 0w
18/GO009530{F K A |fBJIF=RiHe 76(8) SIRET HA HA
19|G0017717|88 =@  |7HoF«4 s = 63 60
20{G0014545) /M BB |v>5racvnr=rss |—167(3) 6264 s
21|G0003352| LB & SRBRELAERT AT EE 62 61
22|G0013638 KT EfE  |#RERT=Ry57 (M T6O |
23|GO000024| U 81T [HLUELT=RITT | g 62 60
~424|G0000234 285 H=  |mrEO—>7=2p57 16262 B E=
*~8125(G0000146| AT Ok  |xEIST—7=2H—F> [— A HE o175
26(G0000158|15AK B |FATF=R ALY (0062 5k 58
27|GO000204{ 15 B [t 8UAYT=AIST [ 6161
28|G0009916| A 1 |F==ALwY 57|04 0! -
29(G0000216|= 8 =5 |TUARTC ey 46 64 61
30{G0017020( B2 i~ |mmma—vr=zs57 103 760 .
31|G0004210 LI Al |BHO—>7=R55T () 67(2) 63 61
2 |a2|Go000172| M F k& |7A-F=2H5T 7062
S —RIEfL
1 WA T BT T=AHB(EALE)
2 mE RE FAT=RYST
3~4 B EC BTRA—T=R957
3~4  IME EX I7I)—9357
5~8 HEE ZREMRT. C
5~8 ’f R 1#X I BJ) =T =R957
5~8 ¥ Ak XBIST—F=AA—F

5~8 HIH RD FERET=RI57



©

7 G0014545 /NJE 32 BA
8 G0000993 HH &F
9 GO017717 88 =
10 G0016008 H!/FE FB—
11 G0013580 /KA 1%
12 G0001760 Ei#f BASR

27 60 &Ll L SUT A TR
FRIE . FEME
BERAk 15
| BRES K& g
N — SEZR—YTUHST —
1 [G0007286(HE 2= BRAR Y2057 [
8 |Go000993| M &7 |BEF=—245T |7062
q E BJI|[ =X — -
2 |G0009530|F A AT |BIIT=RH= A
12|G0001760|iE# BHE |ERBo—57=257 1466175
3 |G0009635| Bt {244t  |mamEssET=xs57 mey
11|G0013580( /KA 8 =3ibpr=xgp 0061
52 =5 I
4 |G0000738| &M B X |ZER~IBELTC B B8
71G0014545|/NME BB |#osorocvizonssy 163 64
=) Ié,} _ I
5 [G0009512|185k 1 ecole—f Bk
10{G0016008| R BB= |74 -F7==H5T 3675773
6 (G0000383|EA #= |mEms#D—2T7=R957 |— =
GOO17717|88 =8 |7HT44 | 176(7) 63

YUSURAMYILTZRIST

BETF=RH5T
TIT4F
FAT=ZARYS5T
ZHEETRE

BREO—T=RU5T



TADUVERRRT S UTRRTFIE

BF 65 MLt SVUTLR
JOPSL—FK:A SN 32
#IEEGR B-16 B-8 B-4 EEB
30 240 345 490 700
- EREE] K& i
1 =] s g - — - |
1 |G0012254(#AR B |FIRT=RU57 R A
2 |Gooo1449| 4 =gB|UFERF—Lag 8170 e
| AR AT
3{C0000101|BiHE By [wot—var=arsT oo o 6161
4 |G0008507|E5 4t B |imo—rr=x557 7070 I
= N
= 60 36 64
0011013|H1J1| = INET. .
5|a Ml EX |MET. C N
= - - —5|_l6460
6 |G0012097[EI5 %= =RERT=RY35D HiE =
o o 62 63
0000393| 3 BT —REEE — =
5~8| g |G0000932|FkIL BrfT |UvorBEEmT=2557 |07 6262 I
Ao /8 e
3741 9 |G0003013| /K & |[FZLR—uF=ATFF [ o763 10RET
JKA &
10{G0007381| 5 e &R |[Tkryqy (16063 -
JKHE &
. - 76(3) 46 64
0015050 | — TR —X[E o) - .
11|G0015050| 7511 f2—ER| TRy IT—RERE T
12|Go001221|;E# Hig |EHF=—2xpE |02 760 e 5
N RN 75 62
13|G0001486]| 42 o BHTF=RI5T .,
WH BB |ECENT=RIS Tt Eh
14|G0013735 33+ E |whisy—7=s57 16164 e 5
” 75 63
0016247| = MT{E % & .
~ ==
5~8|16|Go002010| 2 E s |To-EusFo—2pm |70 4675 W
5~8 - _ s
0000977| 554t &= BEA—YF=RH5T —
17|G 977|E+ mAN  |[EEBEO—2FT=XH5 A EA
- o am 62 36 62
2 |paxer—zmpres — -
18|G0000386|{EHF HHR | BAKRFT=REP i EA
_ 5 46 64 63
= - ) —F—= —
19|G0012082| £ % B3 FIY—FTZRHS5T m0 E
20|G0000075| |0 E#  |@BTF=2H—F> | 1664 76(D A EA
— 46 64 64
21|G0013912(} = PCA TENNIS ACADEMY |— .
I E=E8 P AR
—_ — 1 _le162
22|G0000072|{E#E AF] |FRAT=RRI—IL & =
» — 64 64
23(G0016157 Z  |/BLo—7=2557 — .
& EE esdml T T
$~414|G0004766|3E:8 =M |FrERo—7=2s55 | 162 61 —_—
°~8125|G0001506| F M Rt |7/ oABF=imzs | — Sm R w.o
26|G0000385( 1A R |REF=zRHS5T |[0263 L s
. . 62 76(5)
BF J ~"—"
27(G0002060| LA HF| |FUFRFLRR—Y LI
28|G0017229[;5K E#t |#T|ES 17546 63 Wik S
29|G0000061| B4 5 = BB |FEFIT = RIBHE |— 0o . 60 61
/ﬁ7k JE;E
30|Goo02828|iE K X |mmzoTFF=2s57 | 1643662
31|G0009037|/ME 1BE |[MOFZFT=-RI5T
2 132|G0008332| Nk Hif |Mmr—7oF=2557
& —FIEf \
1 MR AR HMRT=RY57 \
2 PIRE Bk BEA—TLT=2957
3~4 kA& TILR—DUFZ2RTSH
3~4 B HE ERERA—UT=2957
5~8  BHH EA BRO—"T =957
5~8 @A R T—IN\URBTZREEER
5~8  FME H# Ja-E)ETREE

5~8  ®ul BT VO RBET=RAYZT

&%
1000



12(G0009461|3%)I| B

7 G0013735 B+ Hif
8 G0000386 £ 57 i3
9 G0014603 ;T A &
10 G0007231 FA+t #E—
11 G0010480 /N#k L
12 G0009461 &)1l FE

BF 65 Ll AN W& 2
FEE AL FEBGR
EBRAL 15
_ |[BRES K4 iE
2 |G0000075({E O 1Ef# |EBETT_RH—T> B0 ER
BYE -
3 |G0017229|;&K EEfE |EAEESR sk EiE
11{G0010480| /M #k 5 |mmms —77=xsam | 162 64
4 |G0000061| 42 F=EB|FEf9T=REEER mEE =
10|G0007231 |84t #5i—  |7hv=F=z2s— | 164 02RET
5 |GO000393(*FH M7 |HET-REXEE T
9 |G0014603iTm E# |ammo—r=zmms [ 162 76(4)
6 |G0013895|1k/k Eff |TFHRERT=RI3T mrr
8 |G0000386| (£ %5 R  |BAxpT=2amums 10461
7 |GO013735|iBH Eif |ZsI—>T7=2957 mE
R |75 76(3)

SINT) =0T =R95T
BAKRZETZAE AR
L HEBA— T RIEHLR
JANVITFZRRYI—)L
RPE—TFTT_RER

EEHSR



TAODUVERRRT S UTRRTFIE

BF 10 Lt VTR
JOPSL—FK:A Shn%k:32
#EEGR B-16 B-8 B-4 EEB
30 240 345 490 700
[~ EBES] EZ TR
111 |goooooso|mth M |=gETR @ Tl
2 |G0001225|§4HIKER  |sRERO—7=2557 | 10463 M ER
3 [G0000051| AR [RR  [BasEnstiT=xs57 — ... . 63 57 61
EE
4|coo10361|38%% = |mmA—5or=zs57 |61 12RET S
5|G0012271|F & INEFZRHST mey 6164
6 |G0001387|F# J\MB [ru—ar—senxr=aysy | 167(6) 6163 S
an >3
7|G0000221| L 5 |/ SRT=RITTRRH [ g 6163
5~8| § |G0006382| 25k BAfE | L#5u—vEnr=zy57 160 60 M ER
3~41 9 |Go005775| NIl EA  |FmA—2F=2557 — S £ 64 26 76(4)
10|G0004745| = 5t BB |KEILF==H5T 0163 4l =8
11|G0001261BSEH 1442 |RAT=Z23YT e g 76(4) 76(3)
12|G0008745| K&k A |nEo—v7=xs57 164 STRET Sl R
13|G0001086| B4 Il 7 |REEBT=A057 |0 a 76(6) 61
14/G0016935| A A [speRT =i 0007 | L
15|G0013982| =52 XA |HH5T e A 46 63 63
= s
~8|16|G0000071| 5548 Bk |#REES 1366262 %
5~8 —
17|G0002063| & % —Z2E
T8 ME |(BsET S HA R
18|G0000659| 3B 3t &7 |Ra{IIF=2H57 01 62 T
19|G000008O| 4 JB— [ RIAboukF=As5T [y 63 63
20|G0007280| %4 HiE [IFNEF=ry5T L6170 45 f08
— 62 61
21|GO000073|ERE, $-EE  |EHA—T=R957 o0 pyen
22|G0001454| B 5T Fiil  |F=RavF-Euay |46 6160
SV P =—2H5T—
23|G0015476| ARk Bia |HRREERT=X9357 Fok H—
$~4124|Go001240| Ek H— |=mEIAF 17575 e
5~8|25(Go001227|48k & |ecole—f e g 36 62 75
26|G0017713| 5 2= |ssmsrver-rmassy | 163 61 A—
S R, 60 60
N B T — B En |
27|G0017266(;E L B |/NETF=R{EZER b B
28|G0001229| iR 134 |=pEmRT=x457| 366463 A—
29|G0014233|F K HF |[paBo—7=2957 — 2K BB 266375
30|G0000433|{FiE HFHHE |s#FF1vELNT=RIS5T | |46 62 61 2K HE
31(G0005722| 5 A £ RKKIL—FVRTFZRH5T — Es = W.0
/Xy 71~
2 |32|G0005553| B = |=pERTF=2557 1016
o —KIE Rz
1 @ EA =BETE _
2 BE R RRERT-R957
3~4  HEJIFA HRA—VT=R957
3~4  EKE— =EBINF X
5~8 Bk B LT —ETFZRHS5T
5~8 EiE BEX HESR
5~8 8k = ecole—f
5~8 HA B B iR T A ips

&%
1000



11 G0016935
12 G0000084

A5 EE]
B S

HERT =2
EHT=2557

57 70 Ll L SUT A TR
FEE AL FEHGR
E/ERAL 15
_ |[BRES K4 iE
1 |G0015230|{SH Bk |ABCAUR7F=2RYI—IL |— i, 55
11|G0016935| k3t &7 |H@BRF=2iHs (0362
2 |G0000980| #k #&— RIARYYRF=RHFT — 55—
7|Go015751 |8k E £ |AL\FTC (61 40RET
3 |Goo12271|F & INEFZ=RH5T mey
o |Goo14586| &3 BE |KELMEsEp 12664772
4|G0004745| =T BB | XEWT=RI5T . _
=7t B
10|Goo12818|# E=  |hEF=2457 [16260
5 |G0005233|# A BE |mamsEsnT=2s57 |— e
8|G0014233| 54K BB  |nxaso—r=2s57 | 162 7605)
6 [G0005722| 5 H 1% RKKIL—FVRTFZRH5T sE
12|Goooo0s4| E# it |E#MF=2Hs5T [ 16360
7 GO005722 HEHE  RKKA—=FLAF=ZH5T
7 G0015751 #kJR =iff HAL\F'TC
8 G0014233 ¥ AKX HEB HIAHO—2T=RH35T
9 G0014586 &4 BE XEILEZEEE
10 G0007242 3EIE 5 = o S le BoE
10 G0012818 7§ ;Z— FRET=R93T
H GOo15417 FBE =P



TAOVEAERRT T VTR EFE
BF 15 UL SUTNLR
JOPS'L—K:A Shn#:24
YIEERE B-16 B-8 B-4 EEB
30 240 345 490 700
[rome |- | B3 HBE K% FiE
1 .
G0000015 7= - ;
1 FE B INEF=R957 %E M
BYE -
2 HE WM
3 |Gooos243| 1L & |34HTF=2H5T — . o [(B2IRET
iy &
pm — TR | 163 63 - —
4(G0012328| A8 FAE |#HEA—2F=RYFT xE =F 8
[ - . 76(6) 61
5|G0002855( 45 E%= |HEARTA s =m
o = 2oy 5 |63 64
6 |G0007406| KiE =F B |#RRR—Y<L 55T ——
06 61 75
! BYE &3 HYE
5~8 - . _ s
0001420| &5k ¥ SH—ET=RY5T — -
8|G {E5L FEHE  |[BE—ET=R%Y5 *E =F 5
3~4 _ N . 36 61 60
9 |GO000016(| LB E= |F—L-FAVEUR iR &=
1
0 BYE
1 x - R
1 |Gooo1199 JIE EE [z RLY7TZRYIST == gE
1 — e = - ,-—|_ |46 64863
) GO000986| = &5 |#®@EBR—>T=R957 =E KB
1 i | 46 64 60
3 G0007720|fEH # (mhZr w3 =@ HE
1 = s —os=s|__|6464
4 GO005673|EH B |aEBR—7=2457 =H HE
1 | 63 63
5 BYE I 4
5~8[ 1 = 1k . = = || stH #85]
6 G0000006| )11 1& TYTIWNT=RYSD 26 64 61
5~8| 1 . = — =T |
7 G0002849(;Z L L+ |MIRT=RH5D et 4
1 |
8 BYE 2 E+
1 Yz g 52— — sl 67(6) 75 62
9 G0008772(:f3:iE AR |ELFHKIET=X15 D—
2 " A= — e |__|6463
0 GO0000955|FEH £ F |MBT=R/—H S
2 = B = R H— s | 63 36 64
| |Gooooo6o Eith i |aR TR A ER
2 NEER | HTSHST | [46 75 RET
5 |G0015248 BEER |RISH95T S 85
2 - 62 61
3 BYE stH #8F
3~4(2 o = [
2 G0004474|51 H #7 |#HE0—2T=X957 SHH
5~8( 2 s = O W.0
5 GO001411[;%E Al INEO—UF=RYTT 2R =
2 |
6 BYE BEED
2 N v wm— o =g | 64 46 63
; GOOO06086(#AIR KR  |#ET=RV57 215 EE
2 = - e o= | |64 62
g |G0010410 AEEE |FEERn—7=2s57 e
2 . 63 46 63
T EE | 7ALARNZ=ZRY5T —
5 GO0000023| K#f FEE ALRANTFZRYS A B
3 N - — o p=—|__|76(7) 61
0 G0007335|#[E ERh | SRERT=X9357 St B
3 | 63 76(3)
1 BYE S B
2 2 G0001877|itA B |ZBREMETC ||
& —RIEfL \
1 FAH NETF=R9352
2 st B =REMKTC )
3~4 iHE #BE FEO—2T=R957
3~4 ITEBEZ F—LFTALVEIN
5~8 Il & TYTNTZRIST
5~8  {&3h H5iE BH-ET=R957
5~8 EL&T MRT=RI357 )
5~8 EE T INEO—VTFZRHS5T

&%
1000



By 75 mLlLE ST IVATR

FENERL FEHBR
E/ERAL 15
| BBRES Kf &
1|G0000638( K F3k |7 are A i 1o
o |Goots248|msE TR |HTS5H5T 163 63
2|GO005639|FREA SEF  |FRERA—>7=2957 | gun
6|G0010410| 248 EB |¢mEmo—7=2557 | 16060
3|G0005258|/NE B |sTgU—2F=RE5T — =
iy 8
8|Goo08243|Li & |34hF=24H57 6162
4 |GO00T199(J11M5F HE  |ZRILTFT=RHI5T mirEr
7|Go001495|8E 2 |KEWLF=RHS5T 4870 TS
N - e
5 [G0007335|¥AfH &5h |EREERT=X557 YA A
g) GO0014504F BEZE  |WLEEF=2557 |76 61

6 G0O010410 B8 EB
7 GO001495 #EeiE fi2
8 G0008243 Lk &
9 G0015248 & ERX
10 G0O001450 g EEE

EEREEO—T=RI5T
RXEWTF=RH5T
SANTZRHST
RIS5H57
WIUEET=RY3T



TACVERRRT I VT AERFHE

BF 80 Ll Lk SUTLR
JOPS L—K:A ZShn%:8
#¥EHE B-4 EEH B
30 315 450 640
[wma [ | B ERTE B K% il
1 == L 88 [ ——
1 [GO002569|1Rik #ZHE |ALUCELT=RHS5T o
— . _ __| [6262
. SRIN\— > = Vi e E
2 |GO000710{HFt TR |R/S—98VT=RI5 iR e %
O 61 63
3 |G0000409|FE#T 18 [ n e =l &5 ) Fikf 18
o kA1), me 2 = | |60 63
4 |G0000053|AfE 7= INKTY—2F=RH5T % HiE
. ~ _ 60 60
5 |G0001249| 7% RkiZ SRERT=RAI5T % pE
- _ _ 60 60
6 [G0006261(LLUJc —k |ZL—ILITS % FE
= = N 60 60
7 |GO000042|KiZE £t | 7ALARNT=RHISD REE 52
2 |g|coooses2|hE R |ERTF=2H5D 64 26 8-6
< —NKIIE{AL

1 FERIGE ALOCELNT=RY5T
2 REER EMT=RI3T



